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1 (1) 3 M MR T P R 0 4y, = xsin(Inx). (10%)
(2) ko e ) 5 A ) B BE 34T 2) 69 5 AR B3 91 5 — B AR R MR 37 SHARAE. (10%)

x*y" —xy' +2y=0

2. (D) —®@Ev A xyz BEREATHZMArEail b v=(abc) M x-y -2 B L P8
ZEyEHY = (a, b, "), B X-y-2 AR L A X-y-z EAR G 7 b0 Ak —
0 A. 3% R4 e g [A] 4245 [v'] = [A]l[v]. (10%)
(2) 4 0 =7/3, (a', b, c") = (3,4,5), 3k (a,b, ) ? (10%)

° __150], R A192 (10%)

3. A=1;

4. Lo THHFELELES
2xy3 -3y-0CGx+a x2y2 —-2ay)y' =0
a) Ko 2. (5%)
b) K sbiE 4 77 42 2 3@ ##. (10%)
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5. 32 Laplace 2 /€ & KA T &4
a). f(0)=21%+ J;f(t—r)e“fdr (10%)
b) »"+4y =8 9(0)=0,y'(0) =0 (10%)

6. E4o— 2D &35 F(x,) = (y - x2¥ )i+ (cos2y?) = 1)j
KF(x,y) # i sh Cpifeesh W=q F(x,y)edR st Chy=x*fty=1/mEAEH2H
Rt 2 a4 & 3 (15%)




